
 

 

HORNET 900 RADIATOR CHEEKS 

 

FITTING KIT CONTENTS 

4 x m6 x 16mm countersunk allen bolts  CBOL0216 

2 x m6 countersunk steel washers   CWAS0002 

2 x m6 countersunk black plastic washers  CWAS0200 

 

STAGE 1 

 

Remove front bolts and aluminium cappings from sides of radiator and aluminium capping directly 

under tank. 

 

STAGE 2 

 

Repostion aluminium radiator cappings on inside of radiator cheeks and offer up to bike. 

Attach loosely using 2 m6 x 16mm countersunk bolts and aluminium countersunk washers. 

Replace capping pieces at rear over top of radiator cheeks using the 2 remaining m6 x 16mm 

countersunk bolts and plastic countersunk washers. When satisfactory fit is established tighten all 

bolts securely. 

 

 

 

 

 

 

 

 

HORNET 900 RADIATOR CHEEKS 

 

FITTING KIT CONTENTS 

4 x m6 x 16mm countersunk allen bolts  CBOL0216 

2 x m6 countersunk steel washers   CWAS0002 

2 x m6 countersunk black plastic washers  CWAS0200 

 

STAGE 1 

 

Remove front bolts and aluminium cappings from sides of radiator and aluminium capping directly 

under tank. 

 

STAGE 2 

 

Repostion aluminium radiator cappings on inside of radiator cheeks and offer up to bike. 

Attach loosely using 2 m6 x 16mm countersunk bolts and aluminium countersunk washers. 

Replace capping pieces at rear over top of radiator cheeks using the 2 remaining m6 x 16mm 

countersunk bolts and plastic countersunk washers. When satisfactory fit is established tighten all 

bolts securely. 

 


